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QUESTION 1

Which statement is true for vRealize Automation multi-organization tenant configuration? 

A. Providers can set up multiple tenants and allocate infrastructure within each deployment, providers manage tenant
infrastructure remotely. 

B. Providers set up multiple tenants, each tenant manages its own projects, resources, and deployments. 

C. Providers set up multiple tenants, each tenant manages its own projects but resources, and deployments are
managed globally. 

D. Providers can set up multiple tenants and allocate infrastructure within each deployment and providers manage
projects, resources, and deployments. 

Correct Answer: B 

Reference: https://docs.vmware.com/en/vRealize-Automation/8.6/Administering/GUID-6E4A52AF-
AE4B4C12-AE20-413A505DF189.html 

 

QUESTION 2

Which vRealize Suite product helps an administrator understand the monetary impact of deployments and manage
costs in vRealize Automation? (Choose the best answer.) 

A. vRealize Suite Lifecycle Manager 

B. vRealize Network Insight 

C. vRealize Operations 

D. vRealize Log Insight 

Correct Answer: C 

 

 

QUESTION 3

Although an organization has sufficient capacity within the on-premises VMware SDDC, the CTO has decided to evolve
the public cloud strategy into a “Right Cloud First” strategy. To support this, the administrator has suggested the use of
vRealize Automation to provide a consistent portal with a multi-cloud service catalog to enable the users to use self-
service to deploy workloads into different clouds. The administrator needs to configure cloud accounts for public clouds
to support the new strategy. 

Which two of the public clouds are supported platforms? (Choose two.) 

A. Microsoft Azure 

B. IBM Cloud 
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C. Google Cloud Platform 

D. Oracle Cloud 

E. OVH Cloud 

Correct Answer: AC 

 

 

QUESTION 4

An administrator is building a cloud template to allow users to select a cloud type. The cloud type options are: 

1. 

Amazon Web Services 

2. 

vSphere 

Where will the administrator configure capability tags so that the proper compute is selected at the time of deployment? 

A. Projects 

B. Cloud Zones 

C. Network Profile 

D. Cloud Accounts 

Correct Answer: B 

Reference: https://docs.vmware.com/en/vRealize-Automation/8.1/Using-and-Managing-Cloud-Assembly/
GUID-8E630DEA-4732-45FC-9655-6933D55818C1.html 

 

QUESTION 5

Refer to the exhibit. 
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An administrator receives the error in the attached screenshot when attempting to add a cloud account. What is a
possible cause of this error? (Choose the best answer.) 

A. The username and password are incorrect. 

B. The hostname uses a URL instead of IP address/FQDN. 

C. There is an invalid certificate for the vCenter. 

D. A Cloud account exists with the same name. 

Correct Answer: B 
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